Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester -IV Remedial Examination December - 2010

Subject code: 340604 Subject Name: Transportation Engineering

Date: 15/12 /2010 Time: 02.30 pm - 05.00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (@) What are the importance of roads ? Give advantages of roads.
(b) What do you mean by road alignment ? State requirements of a good
alignment
Q.2 (@) Draw a neat sketch of road cross section showing its components
with at least single function of each.
(b)  Write down the formulae for the following.
Lag distance, breaking distance, stopping sight distance, and
stopping sight distance for both ascending and descending for two
way traffic.
OR
(b) Explain widening on curves. Also explain mechanical and
psychological widening.
Q.3 (@) What points should be considered for selection of bridge site and
also which data to be collected for location of bridge site.
(b) State the classification of bridge foundation and explain pneumatic
cassion foundation with figure.
OR
Q.3 (@) Describe the requirements of good drainage and state the various
methods of drainge system.
(b)  Explain the shifting and tilting of well.
Q.4 (@) Draw the sketch of left and right hand turnouts for point and
crossing of rail showing its components.
(b)  State the requirements of a railway station and yards.
OR
Q.4 (a) State various tools which are used for railway track maintenance
with their single function.
(b)  State the causes of pavement failure and also write the deficiency in
rigid and flexible pavement.
Q.5 (@) Explain with sketch. 1. Sea wall, 2. Groynes
(b) Draw the neat sketch for following protection method of break
water.
1. Use of concrete blocks, 2. Gravity paving on top, 3. Tetra pod and
4. Barges.
OR
Q.5 (a) State the various types of navigational aids and explain any one.
(b)  State the merits and demerits of road side arboriculture and also state

the principle of selection of tree.
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